FR  SEAMH
B=E XBEFDREH
E—H SRR

AEELEY 104 £ 1 H 1 Hi#EZE 104 £ 12 H 31 H ik » sHUGFIZEA: - H#IE L
FEREOIRSS 47 (1 - HLETnEL 880 (F: - HIBHRITFINFENSEMEET 725 7 -
FEMREL P 155 (F  PRERAEAR > ERRER 700 £ - FopBg[aEst 519 ff ~ £ %2
B 143 1~ BUHE 38 1 > So AR ElE s 7 (F RS 18 fF - HipFR O F: -
FEFEHERE > 5 3 (B H AR 610 ff - HFEAZEMA87.1% 5 jR 3 £ 5 A
A 88 1 o A AZE M 12.6% ¢ MUAEIRE I 2 1 SRS
0.3% - sz F R ZE (4 28 {1 - A EAEFEOIORSE O 1 - SEETH 28 (> Jad
Ho FERGAES 14 1> 1R 3 A P AE 14 > R 3 = 5 (HHNEHERE 0 1F
HPEIEFET 2 4~ A2HEE 12 1 - DLEFRISCEERTRE - AR FUosEt
% (R 1) - A ARETEAETREETTBETEAE 206 (4 S {ERE 2187 29.4% -

Sy E R & S T BUERT TR ZR A 38 4 - Hoor HI R 4R EIT
JEEB‘%?E%% 34 1> HEKHIZEE) 89.48% ; FUIHE 4 1 - LEHIZES 10.52% -
R 4 P RATBUE SRS RIARSEE SE S TR A — 2 - DLERFAIsCiE
%’B%ﬁﬁﬁiﬁ‘%mémﬁﬂ(/zt—[ﬁmikﬂ%i%&?ﬁﬁéf%mﬁﬁ‘ﬁéﬁﬁ% (fff2~3)-

ff% 1
TR ~ RO ET R
H 104421 31 HZE 1044212 A 31 Ak
% | Lk 7
PEs [Aemg gaafp 0 S80fF
1~ fERRE 700 4
. Rz 143 4
(L R oo 1 [RE B T TR B8 & R R 7 & 57 14)
o B[] 519 4
TR sk | 6] 38 4 e 725 [
- 3{EHHA A 610 {4
- 3~5 AN 88 14
- @ 5 H 2 14
2~ foi 7
3 il 18
4 R 0fF
Ere .
8y 155 4| &5 155 4




IR | L 0
Pl R e
L~ fFoE 14
TR 12
v | [“EE 2
neE e | 0 ff
SR TR i v
- 3{EHA 14 47"
. 3-5 @ 0 f
415 i 0 ff
2 Gl 0 fF
3~ =l 0 4
e et 1
PR ok

Bk TR AR

b 2

B ERETREA E I TEUABTEHISE R

H1044E1H1HZ 104412 A 31 Hik

B - 7
WeEFEHIZE R | o6
e SEECLIES STERES HAHIZER
payn srte
38 34 89.48% 4 10.52%




EiEss

3

A AR E 48 T BUABE S U B ER o A dgiat 2

H1044 1 H1HZ 104412 A 31 Hik

B - 7

o FIRE A TE AR ZE (T 5L

L
2|
B
FH

7
3
1
B
>

K

e - B AR I

A E

5 | FTTEUR B O AER

BRI EBIAR S [E R

REEITIRERER?

S sy B R A &

REHEEE SRR R

it

T
7
B
1
B

K

1T BRI PR R 56 2 5 ST &

TEIRAR EE S S E R A

T TRAR A S B SR BT o7

TTBUAG AL R SR E e e B T U R+ — 22

TBUAB AR A —2

A
o

el Nel N el ieolle} o] el el ol fel o) el Fal SN




